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General instructions :

Read the following instructions carefully and follow them
+ This questions paper contains 30 questions. All questions are compulsory.
7 This question paper Is divided into five sections — Sections A, B, C, D and E.

5 Section A - Questions no. 1to 17 are multiple choice (MCQ) type guestions.

4 Section B - Questions no. 18 and 19 are source based questions.

5 Section C Questions no. 20 to 23 are Short Answer (SA) type questions. Answers i0
ihese questions shall be written in 80 to 100 words.

& Section D - Questions no. 24 to 28 are Long Answer (LA) type questions. Answers 1o
these questions shall be written in 120 to 150 words.

/ Section E - Questions no. 29 and 30 are Map-based guestions.
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SECTION-A

There are 1 to 17 Muitiple Choice Questions in this section. All questions are compulsory.

I Which one of the following is not a component of population growth?
A Birth Rate
B. Death Rate
C. Migration
D Out-migration
2 How people are spread on the earth's surface
. Distribution
3 Migration
T Natural growth
D Density
2 Consider the following statements and choose the correct answer with the help of the given

oplions

e

+ assertion” Growth refers to changes over a period of time.
' Reason. It always has a positive sign.
Uptions:
(/) Both statements 1 and 2 are wrong.
(13) Statement 1 is true and statement 2 is incorrect.
(©) Both statements are true and statement 2 correctly explains statement 1.
(D) Both statements are true, statement 2 does not explain statement 1 correctly.
I The regions where farmers specialize in vegetables only, the farming is known as
A Truck farming
B Market gardening
C. horticulture
D, Viticulture
» Match the column-I with Column-Il and choose the correct option.

[

o column-| column-I1
Iron industry 1 Mineral based
1 Vli_ez:at;w;riirr;:d‘ustry 2 Forest-based
i_m_ “ I;;wgu;m—y_ 3 Animal-based
;v— Textiles industry | 4 Consumer goods

A -1 02, 003, iv-4
B. -4, -3, -2, iv-1
C. -1, 0-3, -2, iv-4
D =3 u-2, w-1, -4
vrrange the following states from lowest to highest population

l
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1 Bihar 2 West Bengal 3. Uttar Pradesh 4. Maharashtra

A. 342
B. 1284
G. 2143
D, 3412

7. Consider the following statements and choose the correct answer with the help of the given
options:
1. Assertion: 1951-1981 is referred to as a period of stagnant or stationary phase of growth of
India’s population.
2. Reason: Both birth and death rates were high in this period.
Options:
(A) Both statements 1 and 2 are wrong.
(B) Statement 1 is true and statement 2 is incorrect.
(C) Both statements are true and statement 2 correctly explains statement 1.
(1) Both statements are true, statement 2 does not explain statement 1 correctly.
8 Choose the correct option for the given statement _
fhe land which normally cannot be brought under cultivation with the available technology”.
A Net arca sown
B. Current Follow
C. Barren and Wastelands
D. Fallow other than current fallow
9. Which one of the following activities is not proposed under Jal Kranti Abhiyan?
A. Interlinking of rivers
B. Reducing groundwater pollution
C. Construction of Arsenic-free wells in selected areas of the country
D. To select one 'Jal Gram' in each district.
10 The Bharmaur Integrated Tribal Development Programme was initiaied during the
A First Five-Year Plan
B. Fourth Five-Year Plan
. Fifth Five-Year Plan
D Third Five-Year Plan
11 Who constructed the Indira Gandhi Canal?
A NIt Aayog
3 Rajiv Gandhi
C. Ehrhich
[0 Kanwar Sain
|2 The Indira Gandhi Canal is situated in
A. Rajasthan
B Uttar Pradesh
C. Haryana

D. Punjab
13 The South East Central Railway has its Headquarter at
A. Hajipur

3 New Delhi
.. bilaspur

—
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D Jabalpur
141 Between which two places was the Grand Trunk Road built by Sher Shah Suri
A Kolkata to Peshawar
B Amritsar to Peshawar
C. Delhi to Amritsar
D Delhi to Lahore

means of transport, These were actually carried by hand, animals, boat, road, rail, and air That
Is why all forms of transport are also referred to as lines of communication. Where the transport
network is efficient, communications are easily disseminated. Certain developments, such as
mobile telephony and satellites, have made communications independent of transport. All forms
are not fully disassociated because of the cheapness of the older systems. Thus, very large
volumes of mail continue to be handled by post offices all over the world. ]
' Communication services do not include

A Facts and ideas

B. Roads
(. Messages
D Words
o Which one of the following has made communications independent of transport? }
A, Internet
B. Mobile

C. Cyberspace
D. Social media
17 Whose invention has helped in preserving the messages ? [

A. Writing
B. Satellites
C. Letter

D Fax
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SECTION-B
Question No.18 and 19 are source based questions

18 Read the given source carefully and answer the questions that follow: 3x1=3
Census | Total Population ; Growth Rate*
b J . . Gro LS
Years | ; Absolute Number Y of Growth
AT |

Fragase; | 1ty I=

| e 12 hengs

SR L8 Rt IR G |

18 1 Which decade has shown the negative trend of growth rate of the population?

18.2 Mention any two decades in which the percentage of decadal growth has shown a regular
downward trend,

16 3 Mention any two reasons for the declining trend in the population growth rate.

Note:The following questions are for the visually impaired candidates only in lieu of
Q.No.18
15,1 Which census year is known as the dividing year?

' 2 In which decade has the highest population growth been recorded in India?
183 Mention any two reasons for the declining trend in the population growth rale

19 Read the given source carefully and answer the questions that follow: 3x1=3
'hisis a trans-siberian Railways major rail route that runs from St. Petersburg in the west to
Viadivostok on the Pacific Coast in the east passing through Moscow, Ufa, Novosibirsk. Irkutsk,
iia and Khabarovsk. It is the most important route in Asia and the longest (9,332 km)
double-tracked and electrified transcontinental railway in the world. It has helped in opening up
ils Aslan region to West European markets. It runs across the Ural Mountains Ob and Yenisei
nvers.Chita is an important agrocentre and Irkutsk, a fur centre. There are connecting links to
the south, namely, to Odesa (Ukraine), Baku on the Caspian Coast, Tashkent (Uzbekistan),
Ulan Bator (Mongolia), and Shenyang (Mukden) and Beijing in China.

191 Name the Railway line and the country where it lies?
19 2 State two reasons why it is the most important route in Asia?
19 3 Through which natural features does this railway pass?
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Section-C
Question number 20 to 23 are short answer type

20 Who introduced the concept of Neo-determinism? Explain any two features of this concept.
Or
“The physical environment for primitive societies becomes Mother Nature”. Analyze the
statement.
21 Expalin the importance of pipeline as a mode of transport.
27 Mention any three features of Clustered Settlements.
Or
Mention any three features of Dispersed Settlements.
' Dvaluate the importance of Visakhapatnam sea port in world trade.

Section-D
Question number 24 to 28 are long answer type.

24. Explain any five features of plantation agriculture practised in the world.
£5. Expldin the physical factors affecting the distribution of population in the world with
examples.

Or
Who gave the conecept of Human development ? Justify the importance of empowerment as an
important pillar of human development.
26 The non-conventional energy sources provide more sustained,eco-friendly form of cheaper
anergy. support the statement with suitable examples.

Cr

"After independence various important strategies were adopted for agricultural development
et Substantiate the statement.
77 tvaluate the role of Indian sea-ports as international gateways.
&1
Explain with examples any five steps taken to increase the performance and quality of
Indian Railways.

?8 Fxplain the important objectives of Namami Ganga programme.
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(Question No. 29 & 30 are Map Based Questions.)
29. On the given political outline map of the world seven geographical features have been
marked as A, B, C, D, E, F and G. Identify any five and name them on the lines marked
near them. IXs- ¢
5
A. An International Airport in Asia.
B. A canal linking Red sea with Mediterrancan sea.
C. A major seaport in North America.
D. A terminal station on the Trans-Australian Railway.
E. A major area of nomadic herding in Africa.

F. A major area of extensive commercial grain farming.

G. International airport of Europe.

IxsS=¢



e ; ﬁw%sﬁgammg%ar&auﬁm&fﬁ%%nmﬁw%%mm%l
ﬁm%l%aﬁﬁﬁ?:@‘uhéaam%%q:

mﬁmmrfgﬁqa@qﬂqmm%qr
ﬁwﬁm,mwaﬁwwwﬁﬁw%?

_ m%mﬁmm@amm—wwmﬁml

W-N@%mﬁﬁw%%m%%%@nmmw |
ﬁmaﬁm%%@a@mw%wmﬁﬁw
ﬁmmmw%w%m & 1 9 forfaw |
%ﬁ%m@wwmﬁrﬁql

m%mmmaﬁmmm%@m

S TR SR A T B 7 2 7

N2 T vt SeeE T w2
aﬁngpafmwﬁ%amﬁ@m%?
wmwﬁw%ﬁﬁmﬁwmﬁﬁ%%l
ﬁn@uﬁ—ww%ﬁwaﬁm@a%?

0.7 ﬁmﬁ@am@uwmmﬁ%ﬂm

18

A



30.

Note : The following questions are for Visually impaired candidates

only in lieu of Question No. 29,

Attempt any five of the following :

29.1 Name the international airport of Yemen.

29.2  Which cana] links Red sea with Mediterranean Sea ?

29.3  Name the major sea port of Canada along its west coast.

29.4  Mention either of the terminal stationg on the Trans-Australian
Railway.

29.5  Mention the major nomadic herding region of South Africa.

296 Name any one major area of extensive commercial grain farming.

29.7 Name any one International airport of Great Britain.

On the given political outline map of India, locate and label any five of

the following : 5

30.1 A state with highest level of population density.
30.2 A state with highest level of urbanisation.

30.3 A state leading in the production of jute,

30.4  Koraput-bauxite mines.

30.5  Jharia coal mines.

30.6  Mangaluru seaport.

30.7  An international airport in Punjab.

Note : The following questions are for the Visually impaired
candidates only in lieu of the Question No. 30.

Attempt any five of the following:

30.1  Name the state with highest level of population density,

30.2  Which is the state of the highest level of urbanisation ?

30.3  Which state is leading in the production of jute ?

30.4  In which state Koraput-bauxite mines are located ?

30.5  Mention the state where Jharia coal mines are located.

30.6  Along which éoast of India, Mangaluru seaport is located ?

30.7 Name international airport located in Punjab.
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